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Converting from Scientific Notation Name:
Rewrite each problem in standard form. Answers
1) 271354656 x 10°
1.
2) 386x10"
2.
3) 230374331 x 10°
3.
4) 888 x10°
4,
5) 657233764 x 10°
5.
6) 57x10!
6.
7) 6.70628 x 10*
7.
8) 9.4125517 x 10°
8.
9 502x10?
9.
10) 485x 107
10.
11) 3x10°
11.
12) 5x 10
12.
13) 6.70817829 x 10
13.
14) 452682223 x 10°
14.
15) 675x 10*
15.
0
16) 422x 10
16.
17) 19x 10!
17.
18) 7,69 x 10
18.
19) 3x10*
19.
20) g21333x 10"
20.
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Converting from Scientific Notation

Answer Key

Rewrite each problem in standard form.

1

N—r

2.71354656 x 10°
2) 386x10"
3) 230374331 x 10°
4) 888 x10°
5 657233764 x 10°
6) 57x10
7) 6.70628 x 10"
8) 9.4125517 x 10
9 502x10?

10) 4.85x 10"

11) 3x10°

12) 5x 10

13) 6.70817829 x 10*

14) 452682223 x 10°

15 6.75x 10"

16) 422 x 10°

17) 19x10*

18) 7.69 x 10

19) 3x10*

20) g21333x 10"

10.

11.

12,

13.

14.

15.

16.

17.

18.

19.

20.

Answers

271,354.656

0.386

230,374,331

8,880

657,233,764

S/

67.0628

941.25517

0.502

0.485

3,000,000

50

67,081.7829

452,682,223

0.675

4.22

19

/69

30,000

82.1333
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